Name SP222 Quiz

The measured current in a circuit in your uncle’s house is 12.5 A. In this circuit, the only
appliance that is on is a space heater that is being used to heat the bathroom. A pair of 12-gauge
copper wires carries the current from the supply panel in your basement to the wall outlet in the
bathroom, a distance of 30.0 m each way.
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What is the resistance of the wires carrying the current to the bathroom and back?
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You measure the voltage at the supply pane{to be exactly 120 V. What is the voltage at the wall
outlet in the bathroom that the space heater is connected to considering the resistance in the
wires? (hint: the resistance of the wires is in series with the space heater.)
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